POWER TRANSISTORS ccrcives

digh voltage for switching applications
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BU 326S [NPN {High volt.switch [800 [400 |8 | 3 K/1.25 0.6 3/1 b0 = |TO-3 (1)
BU406 [NPNITV horiz.deflect. {400 |- 1011 B/0os5 (<075 /05 B0 |T0-220
BU 406D * [NPN [TV horiz.deflect. |400 |- 10 1 [p/0.65 |<0.75 |5/0.65 B0 |T0-220
BU 407 [NPN{[TV horiz. deflect. {330 |- 10] 1 /0.5 |<0.75 |5/05 B0 |T0D-220
BU 407D * NPN|TV horiz. deflect. }330 |- 101 1 /0.65 [<0.75 [5/0.65 B0 {T0-220
BU408 |NPN|TV horiz.deflect. {400 |- 10] 1 /1.2 |<0.75 |6/1.2 B0 |T0-220
BU 408D |NPN[TV horiz.deflect. {400 |- 1091 1 /1.2 |<0.75 |6/1.2 B0 |TO0-220
BU409 NPN|TV horiz.detlect. |250 |- 10] 1 /0.3 |<0.75 |2/0.2 B0 |T0-220
BU 606 |NPN|TV horiz.deflect. [400 |- 10] 1 /0.65 |<0.75 [5/0.65 60 |TO0-3
BU 606D |NPN|TV horiz.deflect. |400 |- 1011 /0.65 |<0.75 [5/0.65 B0 |T0-3
BU 607 |NPN|TV horiz.deflect. {330 |- 101 1 [5/0.65 |<0.75 {5/0.65 60 |TO-3
BU 607D |NPN|TV horiz.deflect. 330 |- 1011 /0.65 |<<0.75 [5/0.65 |60 |TO-3
BUGOB |NPN|TV horiz.deflect. |400 |- 1041 p/1.2 [<0.75 |6/1.2 B0 |T0-3
BU 608D |NPN[TV horiz.deflect. |400 |- 10]1 B2 |<o7s |6/1.2 g0 |10-3
BUW 24 |NPN |High volt.switch |450 |350 | 8 | 1.2 R.5/0.5 |0.5 2.5/0.5160 = {T0-3
BUW 25 |NPN|High volt.switch {600 |400 {8 | 2.5 }/1 0.5 3/0.6 O w= |TO-3
BUW 26 INPN|High volt.switch |800 {450 | 8 | 1.6 B/1 0.5 3/0.6 B0 = |TO-3
BUX 97 |NPN]High volt.switch |750 350 {8 |3 MK/1.26 |05 4/1.25 |60 = 3TO-3 (1)
BUX 97A |NPN{High volt.switch {300 {400 {8 | 3 #®/1.25 |05 4/1.25 160 = |T0-3 (1)
BUX 978 |NPN|High voit.switch |800 450 [ 8 | 3 HW/1.25 |05 4/1.25 |60 = }JT0-3 (1)
BUY 18S |NPN|High volt.switch [400 {200 | 10} 1 /0.5 1 5/05 P5 |T0-3(1)
* D = Integrated damper diode uT-=175°C
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